Marjorie’s Angel

You may make copies for your own use, but please do not
reprint or repost without my permission.

© 2002, revised 2006, 2013 by Martha Ess

Size: 2 % x 2 ¥4 in size 12 perle cotton,
2% x 2" in size 30 cotton

Materials: 2 shuttles, thread; metallic thread for
halo, if desired.

Techniques: Split ring, split chain

Abbreviations:

R ring

Ch chain

SR splitring

SCh split chain

- p picot

vsp very short picot

+ join

+LJ lock join, also known as shuttle thread join

LPPR last picot previous ring

clr close ring

turn a side-to-side turn

RW reverse work, an up-and-down turn

CT™M continuous thread method (do not cut thread between shuttles or between shuttle and
ball)

SLT shoe lace tie

DNRW  do not reverse work

SS switch shuttles

Skirt: Wind one shuttle CTM with ball thread.
Inner Section:

R: 3-3-3-3-3-3-3-3clrRW
Ch: 16vsp3-3-3vspl1l6 RW
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R: 3-3-3-3-3-3-3-3clIrSLT DNRW
Ch: 18 +LJ (to vsp of prev chain) SLT turn

Outer Section:

Ch: 3-3-3-3-3-3RW

[Ri 2-2-2+(topoflargering)2-2-2clr RW
Ch: 3-3-3-3RW]4times

R:. 2-2-2+(topoflargering)2-2-2clr RW

Ch: 3-3RW
R: 2+ (toLPPR)2-2-2clrRW
Ch: 3-3RW

R: 2+ (to LPPR) 2 - 2 + (to 3rd p of other large ring) 2 - 2 - 2 clr RW
[Ch: 3-3-3-3RW
R: 2-2-2+(tonextpoflargering) 2 - 2 - 2 clr RW] 4 times
Ch: 3-3-3-3-3-3+LJ(to vsp of 1st chain) SLT turn
Ch: 18. Cut and tie to base of 1st ring.

Head and Upper Body: Wind 2 shuttles CTM

Head:
R: 5vsp5-5-5-5vsp5-3-3-3clr DNRW

Row 1:
SR: mock picot2-2/2-2clr RW
[Ch: 3-3-3RW
R: 2-2+ (topof 1¥ring) 2 - 2 cIr RW] 3 times, SS DNRW on last repeat

Row 2:

Ch: 8SS

R: 2-2-2-2clIrSS
Ch: 8RW

[R:  2-2+ (to next p of chain of prev row) 2 - 2 clr RW
Ch: 8 RW] 5 times

R:  2-2+ (tonextpof chain) 2 - 2 clr RW

SCh: 8/8 (SCh joins to base of last R of Row 1)

R:. 2-2-2-2clr DNRW SS

Row 3:
[Ch: 4-4-4+L]J (to base of next ring)] 2 times
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Ch:
Ch:

Ch:
[Ch:

Halo:
[SR:

SR:
SR:

4 - 4 + (to top p of outer chain of skirt) 4 +LJ (to base of next ring)

4 + (to 1% p of center chain of skirt) 4 + (to next p of same chain) 4 +LJ (to base of next
ring)

4 + (to 1% p of next chain of skirt) 4 - 4 +LJ (to base of next ring)

4 -4 -4+ (to base of next ring)] 2 times. Cut and tie.

Wind 2 shuttles CTM with metallic thread.

3 + (to vsp of head) 3 clr

2 + (to next p of head) 2/ 4 clr

4/ 4 clr] 2 times

2 + (to next p of head) 2/ 4 clr

3 + (to vsp of head) 3 clr. Cut and tie.
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